N = 0l & At & Ml A

S XX D
Hu: MEANICE PE

ool T AR MMEEIN TS EERED
SH BB S(SH) - MPAY - B2 O 4t o4 Il = e HRS2

AP 17,955,710 24,786,522 26,830,812

= 1,009,787 1,009,787 0

< 16,945,923 23,776,735 26,830,812

HERXNEE 78 17,007,111 23,791,239 N6,784,128

= 747,735 747,735 0

S 16,259,376 23,043,504 N6,784,128

S ANZ2 HUEEHARS 2,955,238 2,968,745 A 13,507

Axdd 2 29 252,222 265,729 A 13,507

202 044l 2,749 16,256 A 13,507

01 SLHOHI 2,749 16,256 A 13,507

OXXdd g2=a 2,749 16,256 A13,507

S22, g™ XN 1,311,415 1,311,415 0

308 MtXIEHMSOIH 384,250 373,750 10,500

01 AXHHBEES 384,250 373,750 10,500

OANZ Xtegdddl JIs2d(1sd8d) 10,500 0 10,500

403 A XM S =0l A 524,500 535,000 A 10,500

01 AXISHHA=2E = 524,500 535,000 A 10,500

OAl= Xtegdddl JIs22(1=sd8d) 299,000 309,500 A 10,500

SE8&Q XA 29 127,000 177,000 /50,000

gRUIXNZEH 2 110,000 160,000 A 50,000

401 A& HIZ 201 8] 50,000 100,000 A 50,000

01 A& Hl 50,000 100,000 /50,000

ORUIAXNBEEH ANE2= 50,000 100,000 250,000

A5 ddgEoz A48 UXNEE 28 11,803,030 18,519,651 AN6,716,621

= 5,735 5,735 0

S 11,797,295 18,513,916 N6,716,621

AAx=2a & =UXx 48 112,868 122,868 A 10,000

201 LEt2E | 57,018 67,018 A 10,000

01 At 2tel ] 57,018 67,018 A 10,000

Ozdg2s ?3s =8 9,338 19,338 A 10,000

&0 2te] 11,658,637 18,365,258 A6,706,621

202 O Hl 435 4,000 A 3,565

01 = LH 4 di 435 4,000 A 3,565

OHgsl I SAXNLHN HRFA 435 4,000 N 3,565

308 MHXIHMS0IH 11,642,202 18,345,258 A6,703,056

01 AXSHHBAEES 222,407 393,009 A 170,602

ORM8al d=sSAXNEEN HEFH XA 222,407 393,009 A 170,602

R2IIEtRE= 11,419,795 17,952,249 A6,532,454

OHNB8zal d=SAXNSEH 22 A& 11,419,795 17,952,249 A6,532,454




SH: XD
M dATXNEEH 28

S9l: QIMIIXIC YW AAEH P CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2

QIZDIIXICS &gl AAEEH 2E 560,408 564,408 A4,000

QI 232l Atal A =ZHat 117,050 121,050 A4,000

307 glz2tol & 60,000 64,000 A4,000

02 AHFHAEEE 60,000 64,000 A 4,000

OsdEk 0dEs 2 sdas XA 60,000 64,000 24,000

CoIoE QIR H 843,700 873,967 A 30,267

= 262,052 262,052 0

=) 581,648 611,915 A 30,267

NEA UAAIANH A 2H 843,700 873,967 A 30,267

= 262,052 262,052 0

=) 581,648 611,915 A 30,267

FROALSLAMEIAME (L UML) 12,019 12,019 0

= 12,019 12,019 0

201 ¢er24| 12,019 11,019 1,000

= 12,019 11,019 1,000

01 AF2 22l bl 12,019 11,019 1,000

ONAMPUEY ZHIXNA(HALS Z2FA 12,019 11,019 1,000

= 12,019 11,019 1,000

202 04l 0 1,000 21,000

= 0 1,000 A1,000

01 SLHOYI 0 1,000 A 1,000

OWAMPUE ZHIXNA(HALS F2F4 0 1,000 1,000

= 0 1,000 A 1,000

QIAESHH 222l 480,271 497,000 A 16,729

201 LEt2A | 41,115 42,000 A 885

02 232gHl 41,115 42,000 A 885

ORFSHH HHIRIES 41,115 42,000 A 885

207 O] 92,708 94,600 21,892

02 & AR I 92,708 94,600 A 1,892

OUASHH &Y AI2AE W= 92,708 94,600 21,892

307 glz2+ol & 333,984 345,000 A 11,016

05 RIZt2IE = 333,984 345,000 A 11,016

OQAZSHH 2L A& 333,984 345,000 A 11,016

405 XtAtE SHI 12,464 15,400 A 2,936

01 AR ESFH S 12,464 15,400 A 2,936

OQJESHH == &5 AH LA 12,464 15,400 N 2,936

Qs 2date 72,817 86,355 A 13,538

201 Zer24] 71,357 83,955 A 12,598

01 AF22t2l | 38,835 47,005 A8,170

OZA M3t AEET A 30,080 34,000 A 3,920
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